

WOODLANDS RING SECONDARY SCHOOL
SECONDARY 4 (Express) BOOKLIST 2025

Name:	Class:	Contact No:	FAS Ref No:
			(Applicable for FAS student only)

A. Textbooks/Workbooks

Subjects	Title Of Book	Publisher	Tick	Price	Sub-Tot
	Scan & Learn Series: Upper Secondary English Editing Book (2E)	Books & People 10.75		40.75	
English	O Level English (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)			NFY	10.75
	think! Mathematics G3 Textbook 4A (8E)			13.50	
Mathematics	think! Mathematics G3 Textbook 4B (8E)	Shing Lee 14.40		27.90	
	O Level Mathematics (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)			NFY	
Additional	Additional Maths 360 Volume B (2E)	MC		13.25	
Mathematics	O Level Additional Mathematics (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)	Shing Lee		NFY	13.25
	Chemistry Matters for GCE 'O' Level Textbook (3E) E-Book Enhanced (2-years access) (Bought in Sec 3)	МС		30.30	30.30
Pure Chemistry	O Level Chemistry Practical (Yearly) 2015 - 2024	SL Education		NFY	
	O Level Chemistry (Yearly) 2015 - 2024	SE Education		NFY	
	Resource Package	WRSS		NFY	
	Discover Chemistry for GCE 'O' Level Science and Normal (A) Level Science Textbook (3E) E-Book Enhanced (2-years access) (Bought in Sec 3)	MC		26.95	
O Level Science	O Level Science Chemistry Practical (Yearly) 2015 - 2024	Cl Edward an		NFY	
Chemistry	O Level Science Chemistry (Topical) 2015 - 2024	SL Education WRSS		NFY	20.55
	Resource Package			NFY	
	Biology Matters for GCE 'O' Level Textbook (3E) EBook Enhanced (2-years access) (Bought in Sec 3)			38.15	61.75
Pure Biology	Biology Matters for GCE 'O' Level Theory Workbook (3E) (Bought in Sec 3)	MC		11.45	
	Biology Matters for GCE 'O' Level Practical Workbook (3E) (Bought in Sec 3)			12.15	
	O Level Biology Practical (Yearly) 2015 - 2024	CI E4 ···		NFY	
	O Level Biology (Yearly) 2015 - 2024	SL Education		NFY	

	Discover Biology for GCE 'O' Level and N(A) Level Science Textbook (3E) E-Book Enhanced (2-years access) (Bought in Sec 3)		34.00	44.75	
O Level Science Discover Biology for GCE 'O' Level Science Theory Workbook (3E) (Bought in Sec 3)			10.75		
Biology	O Level Science Biology Practical (Yearly) 2015 - 2024		NFY		
O Level Science Biology (Yearly) 2015 - 2024		SL Education	NFY		
	Physics Matters for GCE 'O' Level Textbook (5E) E-Book Enhanced (2-years access) (Bought in Sec 3)		33.70		
Pure	Physics Matters for GCE 'O' Level Theory Workbook (5E) (Bought in Sec 3)		10.85	44.55	
Physics	O Level Physics Practical (Yearly) 2015 - 2024	SL Education	NFY		
	O Level Physics (Topical) 2014 - 2023 (Bought in Sec 3)	SL Education	NFY		
	Discover Physics for GCE 'O' Level Science and Normal (A) Level Science Textbook (5E) E-Book Enhanced (2-years access) (Bought in Sec 3)	- MC -	30.30	38.90	
O Level Science	Discover Science Physics for GCE 'O' Level Science Theory Workbook (5E) (Bought in Sec 3)	IVIC	8.60		
Physics	O Level Science Physics Practical (Yearly) 2015 - 2024	- SL Education —	NFY		
	O Level Science Physics (Topical) 2014 - 2023 (Bought in Sec 3)		NFY		
	Upper Secondary Geog IM BK 1 - Geography in Everyday Life (Bought in Sec 3)		1.55	4.95	
Geography (Elective)	Upper Secondary Geog IM BK 2 - Tourism (Bought in Sec 3)	MC	1.65		
	Upper Secondary Geog IM BK 3 - Climate (Bought in Sec 3)		1.75		
	Upper Secondary History: Unit 2 - The Making of the 20th Century World 1940s - 1991 (Elective)	Hodder	4.25		
History (Elective)	O Level Humanities (History) (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)	SAP	NFY	4.25	
	Secondary 4 Social Studies Express / Normal (Academic) & Secondary 5 Normal (Academic) Coursebook	Hodder	4.55		
Social Studies	O Level Humanities (Social Studies) (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)	SAP N		4.55	
Nutrition	Nutrition and Food Science (Upper Secondary) (Bought in Sec 3)	Star Pub	26.85	26.85	
Nutrition and Food Science	O Level Nutrition and Food Science (Paper 1) (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)	SAP	NFY	NFY	
Design & Technology	D&T Revision Guide	CMN	NFY	NFY	

	Higher Chinese Language For Sec Schools (HCLSS)《华文伴我行》Textbook 4 Higher Chinese Language For Sec Schools (HCLSS)《华文伴我行》Workbook 4		8.55	15.90
Higher Chinese Language			7.35	13.50
	O Level Higher Chinese (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)		NFY	NFY
	Chinese Language For Sec Schools (CLSS)《华文伴我行》Textbook 4 (Express) / S5 (NA)	MG	8.55	15.90
Chinese Language (Express)	Chinese Language For Sec Schools (CLSS)《华文伴我行》Workbook 4 (Express) / S5 (NA)	- MC -	7.35	
	O Level Chinese (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)	SL Education	NFY	
Higher Malay Language	Higher Malay Language For Sec Schools (HMLSS) (JATi) Textbook 4	MC -	8.25	
	Higher Malay Language For Sec Schools (HMLSS) (JATi) Activity Book 4		7.15	15.40
	O Level Higher Malay (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)	Shing Lee	NFY	
	Malay Language For Sec Schools (MLSS) (JATi) Textbook 4 (Express) / S5NA	MC	8.25	
Malay Language	Malay Language For Sec Schools (MLSS) (JATi) Activity Book 4 (Express) / S5NA	MC -	7.15	15.40
	O Level Malay (Yearly) 2015 - 2024 TYS (Ten-years series TYS will be available next year Jan 2025)		NFY	
Optional (Malay Language)	KAMUS DEWAN EDISI KEEMPAT PAPERBACK (NEW!)	Oxford	26.00	26.00
Tamil Language (Express)	Tamil Language For Sec Schools (TLSS) (Thamizharuvi) Textbook 4 (Express) / S5 (NA)	MC	8.25	
	Tamil Language For Sec Schools (TLSS) (Thamizharuvi) Workbook 4 (Express) / S5 (NA)	MC -	7.15	15.40

PRICES ARE NETT AND INCLUSIVE OF GST

Textbooks Amount:	\$
-------------------	----

Dear Valued Parents, do take note that:

- 1) The bookshop will offer only the most recent textbook editions for sale.
- 2) Prices labeled with "NFY" or "School Production" are not fixed yet.
- 3) Please indicate the desired quantity for each item.
- 4) Items that have been sold or are eligible for exchange cannot be refunded for cash.
- 5) For clarifications or exchanges, kindly present your booklist copy and the school bookshop receipt within 1 week of purchase. Items for exchange must be in mint condition.
- 6) For inquiries, please reach out to CK via WhatsApp @ 9138 0041 (available from 9am to 2:45pm on weekdays).

Thank you for your support!

WOODLANDS RING SECONDARY SCHOOL - SEC 4 EXPRESS STATIONERY LIST 2025

Items	Min. Qty.	Qty. Ordered	FAS	Price (\$)	Amount (\$)
WRSS A4 Single Line Exercise Book	5		✓	1.30	6.50
WRSS A5 Single Line Exercise Book	5		✓	0.70	3.50
WRSS A4 Chinese Composition Pad	1		✓	1.70	1.70
WRSS A4 School Lecture Pad	2		✓	2.10	4.20
A4 Plastic Dividers 10C	2		✓	2.00	4.00
A4 Ring File - Light Blue (Maths)	1		✓	3.00	3.00
A4 Ring File - Purple (A Maths)	1		✓	3.00	3.00
A4 Ring File - Purple (Chinese Lang)	1		✓	3.00	3.00
A4 Ring File - Orange (Malay Lang)	1		✓	3.00	3.00
A4 Flat File - Blue (Pure Physics)	2		✓	0.90	1.80
A4 Flat File - Blue (Science Physics)	2		✓	0.90	1.80
A4 Flat File - Pink (Pure Chemistry)	2		✓	0.90	1.80
A4 Flat File - Pink (Science Chemistry)	2		✓	0.90	1.80
A4 Flat File - White (NFS)	1		✓	0.90	0.90
A4 Flat File - White (D&T)	1		✓	0.90	0.90
A3 D&T Plastic 2 Button File	1		✓	2.30	2.30
Safety goggles (Science Lab)	1		✓	4.20	4.20
A3 Pocket File/Folio for Art (Black)	1		✓	9.00	9.00
Twin Board Black Marker (Pilot) for Art	1		✓	1.60	1.60
				Sub-Total	58.00

B. Optional	Qty	Tick	FAS	Price (\$)	Amount (\$)
Casio Calculator FX-97SGX	1			31.00	31.00
Apron + Tea Towel & Dish Cloth Set (NFS)	1			8.00	8.00
D&T Apron - Dark Blue	1			5.00	5.00
Besta All Pass 6	1			72.90	72.90
PRICES ARE NETT AND INCLUSIVE OF GST				Sub-Total	116.90

Amount For Textbooks	Amount For Stationery	Total Amount For Textbooks + Stationery
\$	\$	\$

Payment Methods For Self-Collection ,	/ In-School Purchases		
- Cash, Bank Transfer, PayNow, PayLah	!, NTUC Care Fund (E-Vouchers)		
Payment Methods For Online Purchase	es: PayNow		
For Online Purchase (Online orders st	arts from Nov 10 to Dec 16 2024)		
1) Visit our online store at https://wrs	cozybook.store.link/		
2) Select your preferred collection met	thod:		
 Self-Collection: Payment is due upon date. 	collection. Please order at least 3 wor	king days in	n advance before the collection
 Home Delivery: A delivery fee of \$13 processed. 	applies. You will receive confirmation	and further	r guidance before your order is
Kindly schedule an appointment with o	our bookshop via WhatsApp at 9138 0	041 at least	t 3 working days in advance.
	DATES OF SALES IN SCHOO	L LEVEL	OPERATING HOURS
	Nov 25, 26, 27, 28, 2	9	
	Dec 2, 3, 4, 5, 6, 12, 13, 1	6 2 - 4	9AM - 3PM (MON - FRI)
	Dec 9, 10, 11 (For FAS Students ONLY)	
BOOKSHOP IS CLOSED	ON WEEKENDS (SAT / SUN), PUBLIC H	IOLIDAYS (F	PH) AND PH EVES
NAME OF PARENT:	HP NO.:	HOME NO.:	
COLLECTION DATE:			
DELIVERY ADDRESS:			

Class : _

Date of Collection : _

(Name and Signature)

Parent / Guardian : _

Tick the Approved Scheme

MOE FAS

SAC FAS

SB FAS

 $\overline{\Box}$

For FAS Students

Student's Full Name: _

Student: _

Student's NRIC No/Reference No : __

Amount (For items indicated above) : _

(Signature)

I certify that I have received the selected textbooks and stationery items on this list.